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1. oofe RUAe Aot SR S R 1x8=8

Answer the following as directed :

(@) IFRF PR ~RomerE TR @[l
UM TPIPIRE PSS Sl FRq AR

(i) PraTe o= W% (i) | |
(A IR @ )

The main problems faced by the
Business Managers can be divided into

two parts (i) decision making and
) .

( Fill in the blank )
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(2)

.(b) TP FRFOT TED] SR FRE /-
“{RoEe ST T Tt
(va @ wrem forn )

Making successful business forecast is

the responsibility of a managerial
economist.

( State True or False )

(c) ‘TR TR BRW T 9B T |
(w7 & wug forgr )

‘The price of the commodity’ is a factor of
demand function.

( State True or False )

(@) =t o= w FRF Rem T =, m%@m
iRA 2
() TP T
(i) dT
(i) 4T
(iv) A brs 7=y
(o7 Tewhl i e )
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(3)

If tea and coffee are substitute goods,
then the cross-price elasticity of demand

will be

(i) equal to zero

(1) negative

(iii) positive

(iv) None'of the above

( Choose the correct answer )

() SEITT STREAIRAT GCF W SHES A
YR W qfoce G@IsE [ F T{H{ 0N
e @ =y

(<R 31 @9 41 )

Other things remaining the same, the
supply of a commodity ____ with a rise
in its price and ____ with a fall in its
price.

( Fill in the blanks )

() TN e Sige firy |

Define production function.
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(4)

(g) o dfSfioee ImRe, SR s I
AYR 4T RE 91 @R T°° =% ] oI
ST T W el 9 =

(AR 3 @ )

In a perfectly competitive market, equili-
brium production and are
determined where marginal cost curve
cuts marginal revenue curve from below.

( Fill in the blank )

(h) ST 4 SRES 93 Beoqe AR Sl
e S HIR{T I |

(®% & wam foe )

- A firm:makes maximum profit'when it is
in equilibrium.

" ( State True 6r False )

2. oo e eore oyte o - 4x4=16

~ Write on the following in brief :

(a) TRRT SRRT wiiGr Ry

Four  characteristics of business

economics

P16/539 ( Continued
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R R RSTOR @ e geR  ¢oRE]

Four factors affecting price elasticity of
demand E

Increasing returns to scale

T AP GBR SreElT fAefie

Internal economies of a business firm

R SRS go T ARCER g
o e R Smawa #1471 8+6=14

Discuss the role and responsibilities of a
business manager in business
economics.

T/ Or

91|

Discuss the various problems of an
economy.

14

RN W RfeRerer s ) iR W
f&fRITeR 9F RIW SamT F411 4+10=14

- Define price .. elasticity of demand.

Discuss the importance of price
elasticity of demand.
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T/ Or

() AT SRR Am RfErrer oy
I T AR BRwrre A @@

FRETA Rca st 40 | 6+8=14

Explain the importance of elasticity of
supply in business economics. Discuss
the factors determining elasticity of
supply.

5. (@) T-BCIR @ WA B2 -Beorm @y

Rfen caPgrmz e w1 2+12=14

What is an iso-product curve? Explain
the different properties of iso-product

curves. .
%_T / Or
(b) FEFIRY NN R | W WD e
’W-%ﬂ’mmmﬁmwwﬁa /R,
AT F7 | '

Define expansion path. Discuss how it
can be derived with the help of budget
line and iso-product curve.

6. (a) I bW @ T SRR B Ry o
MR @R« T sfobi

I ¥ T eq, wevay 397 | 6+8=14

What are the basic objectives of a
business firm? Discuss how a firm
maximises its = profit under - perfect
competition.

4+10=14

( antinued }]

(7)

%€/ Or

(b) < efécaferE @R WRBFR TRm 4|
of afScaierEe wmRe TfeEe R 9w
IO A TORT R wET IRI
AE? 10+4=14

Explain the characteristics of a perfectly
competitive market. Why does a firm
under perfect competition make only
normal profit in the long run?

( Old Course )

Full Marks : 80
Pass Mar]cs : 32

1. oS RAARe ot PR T 1x8=8

Answer the following as directed :

(a) TITT FKFRH T SRUIA T 1o
weRifeRr yawT i ee o |

(©% & o for )

Making successful business forecast is

one of the responsibilities of a
managerial economist.

~ ( State True or False )
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